HEBEAN KERUSBEUGES

£ 5HE—HKR (BT T=F&FEMUIERR)
EANEBEETHES
(B) S#13FE4H18 (#) $#443H31H
(BE47 : )
BENE LEFRE(A) HIEERE(B) =E(A)-(B)

LB 2,361, 500 2, 455, 000 -93,500
SHELIN 304, 000 2,845,037 -2, 541,037
B 1,175, 695 1,130, 416 45,279
BEREmI SN 29,225, 343 34,532,475 5,307, 132
iy | EEER R 33,407,025 30, 105, 963 3,301, 062
2 [FEmE 3,345,883 3,644,075 -298, 192
y| |BiBRE 143, 000 127,768 15,232
| NERIRBEINZ 122, 237, 380 114, 425, 860 7,811,520
| rEEmuy e s 880, 080 751,140 128, 940
El |zotoumss 7,541,693 0 7,541,693
A |Y-bzEBREET (1) 200, 621, 599 190,017, 734 10, 603, 865
NG 143,957, 591 136, 560, 845 7,396, 746
B| |mxm 29,719,932 28, 855, 034 864, 898
=5 11, 807, 002 10,937, 145 869, 857
w|  |meiEExEm 2,850 10, 750 -7, 900
o|  |FAEeEEEE 162, 994 150, 107 12, 887
o | & [1ESER 54,000 54, 000 0
B | BB 288, 870 291,110 -2, 240
aiBsEm 158, 800 180, 800 -22, 000
SR ER 4,690, 151 5,092, 260 -402, 109
EE B S S S RIETT S BN A%E -2, 417, 402 -1, 778, 299 -639, 103
2O 0 0 0
H-CREBEMAt (2) 188, 424, 788 180, 353, 7152 8,071,036
H-CXEIERERE (3) = (1) - (2) 12,196, 811 9,663, 982 2,532, 829
2 | iy [ZE IR ER RIS 541 1,215 674
5 | 25 [EOMDY —EREBS MRS 350, 720 244,762 105, 958
8y | |P-CREBIPRESE (4) 351, 261 245 971 105, 284
o & [zofioy -2 EEHIER 0 0 0
1 |BLY—EXmBI R (5) 0 0 0
S [—cxEEsMEEERE (6) = (4) — (5) 351, 261 245 971 105, 284
BREEBREE (7) = (3) + (6) 12,548,072 9,909, 959 2,638,113
[ FTIR [punzst (8) 0 0

| 2 0
1B g |BEEEmESE - 059 2 1 1
B | g | BB & S S RIS T4 0 3,758, 730 -3, 758, 730
o | " [#RiEmst (9) 2 3,758, 131 3,758, 7129
a5 [ERMEHERE (10) = (8) — (9) -2 =3, 758, 131 3,758, 729
BElm LS REa (11) = (7) + (10) 12, 548,070 6,151,228 6, 396, 842
ENB T RBRUBER (12) 0 0 0
ENPIE TR (13) 0 0 0
LEEBNERER (14) = (11) — (12) - (13) 12, 548,070 6,151,228 6, 396, 842
HIAEEEENMEHESE (15) 32, 342, 900 25,398,618 6,944, 282
MBS HEENERASE (16) = (14) + (15) 44,890,970 31,549, 846 13,341,124
EASHERE (17) 0 0 0
HEHHH%E (18) 0 0 0
ZOMOMETTSEREARE (1 9) 1,918, 404 3,792, 330 1,873,926
ZOMOETT£ETRE (2 0) 7,249,958 2,999,276 4, 250, 682
A HEENEHASE (21) = (16) + (17) + (18) + (19) — (20) 39, 559, 416 32,342, 900 7,216,516
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